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SECTION - A
(General Knowledge & General Studies)
1.  What is full form of CPU ?
(a) Computer Processing Unit (b) Computer Principle Unit
(c) Central Processing Unit (d) Control Processing Unit

2. Who had established the ‘Ajivika’ Sect ?
(a) Purana Kassap (b) Makhali Goshala (c) Ajita Kesakamblin(d) Ajeetnath

3. At which place Dadabhai Naoroji had formed ‘East India Association’ in 1866 ?
(a) Bombay (b) Poona (c) Paris (d) London

4.  Which Parmar ruler studied at Mayo College, Ajmer ?
(a) Keerti Shah  (b) Pradeep Shah (c) Lalit Shah (d) Pratap Shah

5. Which Chand dynasty ruler had established the collectorates namely ‘Nyowali’ and
‘Bishtawali’ ?

(a) Vimal Chand (b) Laxmi Chand
(c) Baj Bahadur Chand (d) Rudrachand
6.  In which festival local deity ‘Deval’ is worshipped ?
(a) Chantol (b) Harela (c) Holi (d) Olgiya
7. A popular song sung by the shepherds is
(a) Chaiti Geet (b) Bajuband (c¢) Thadiya (d) Chhura
8. In which state of India Talcher coal-field is located ?
(a) Odisha (b) Bihar (c) West Bengal (d) Maharashtra
9. In which year caste census was conducted for the first time in India ?
(a) 1931 (b) 2001 (c) 1871 (d) 2021
10. Arrange the following water channels in terms of their volume/size in the ascending order ?
(a) Gad, River, Gadhera (b) Gad, Gadhera, River
(¢) Gadhera, Gad, River (d) River, Gad, Gadhera
11.  According to the census 2011 what is the sex-ratio among scheduled tribes in Uttarakhand ?
(a) 960 (b) 965 (c) 962 (d) 963
12. ‘Bharat’ Campaign is associated with —
(a) Agricultural infrastructure fund (b) Industrial infrastructure fund
(c) Export infrastructure fund (d) A section of Reserve Bank of India

13. What is the name of the Lander of Chandrayaan 3 ?
(a) Vikram (b) Ritu (c) Dhruv

(d) Pragyaan
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14. In which article of the Indian Constitution it has been described that there shall be a Council
of Ministers with the Prime Minister as the head to aid and advice the President ?
(a) Article 74 (b) Article 75 (c) Article 77 (d) Article 78

15.  Which one of the following amendments of the Constitution of India empowers the President
to send back any matter for the reconsideration of the Council of Ministers ?

(a) 39" (b) 40™ (c) 42 (d) 44"
16. At which one of the following places FIH men’s Hockey World Cup 2023 was organised ?
(a) Kolkata (b) Chandigarh (c) Bhubaneshwar  (d) New Delhi
17. Tigmanshu Dhulia is associated with which one of the following ?
(a) Films (b) Sports (¢) Social Work (d) Politics
18. Which department of State conducts the ‘Mukhyamantri Hunar Yojana’ ?
(a) Women Welfare Department (b) Social Welfare Department
(¢) Minority Welfare Department (d) Revenue Department

19. Find odd one out :
(a) 315 (b) 325 (c) 711 (d) 423

20. Kilogram is related to Quintal in the same way as Paisa is related to :
(a) Rupee (b) Coin (c) Wealth (d) Money

21. A number consists of two digits whose sum is 11. If 27 is added to the number, then the
digits change their places. What is the number ?

(a) 47 (b) 65 (c) 83 (d) 92
22. The autotrophic mode of nutrition requires

(a) Carbon dioxide and water (b) Chlorophyll

(c) Sunlight (d) All of the above

23. Food cans are coated with tin and not with zinc because
(a) Zinc is less reactive than tin.
(b) Zinc has a higher melting point than tin.
(c) Zinc is more reactive than tin.
(d) Zinc is costlier than tin.

24. No matter how far you stand from mirror, your image appears erect, the mirror is likely to

be
(a) only plane (b) only concave
(c) only convex (d) either plane or convex

25. Disguised unemployment means :
(a) Large number of unemployed people.
(b) Non-availability of alternative employment.
(c) Decrease in the productivity of the workers.
(d) Zero marginal productivity of labours.
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SECTION - B
(Subject Related Knowledge)

26. Absorption of water by seeds and dry wood is an example of :

(a) Photosynthesis (b) Transpiration (c) Plasmolysis (d) Imbibition

27. The metabolic pathway through which the electron passes from one carrier to another is called :
(a) Photorespiration (b) Calvin cycle
(c) Electron transport system (d) Photosynthesis

28.  Occurrence of genetically dissimilar nuclei in the same cell is called :
(a) Fragmentation (b) Heterokaryosis  (c¢) Heterothallism  (d) Fission

29. Who was the first discoverer of bacteria ?

(a) Buller (b) P.A. Micheli (c) Robert Hooke (d) Leeuwenhoek
30. In which field of the science the contribution of Dr. M.S. Swaminathan is known ?
(a) Physiology (b) Taxonomy
(c) Genetics and Plant breeding (d) Ecology
31. Aconite drug is obtained from which part of plant ?
(a) Stem (b) Root (c) Flower (d) Seed
32. Pigeon-pea is a native of which country ?
(a) Malaysia (b) Tropical Africa  (¢) China (d) Nepal
33. What is the botanical name of the blue pine ?
(a) Pinus roxburghii (b) Pinus khasya (c) Pinus wallichiana (d) Pinus armandi

34. Coralloid roots are found in
(a) Gnetum (b) Pinus (c) Cycas (d) Ephedra

35.  Which species of gymnosperms yields the strongest Indian timbers ?
(a) Abies pindrow (b) Pinus roxburghii (c) Pinus wallichiana (d) Cedrus deodara

36. Heterospory is characteristic of :

(a) Lycopodium (b) Riccia (c) Marchantia (d) Selaginella
37. Gemma cups are found in :
(a) Riccia (b) Anthoceros (c) Moss (d) Marchantia

38. Pioneer species refers to :
(a) Species that invade a base area.
(b) Species that invade land with forests.
(c) Species that invade only aquatic ecosystem.
(d) Species that invade grasslands.

39. How much percent of total global carbon is in the atmosphere ?
(a) 20% (b) 10% (c) 01% (d) 100%

40. Prokaryotic cells are represented by :
(a) Bacteria, blue green algae, mycoplasma and pleuro pneumonia like organisms.
(b) Only by bacteria
(c) Only by blue green algae
(d) By bacteria and blue green algae
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Who published his views on evolution in Philosophie Zoologique ?
(a) Weismann (b) Mendel
(c) Jean Baptiste Lamarck (d) Darwin

Small circular, self-replicating and extrachromosomal double stranded DNA molecules in a
bacterial cell are called :

(a) Protoplasts (b) Sphaeroplasts (c) Plasmids (d) Plastids
What is the primary function of the fungal partner in a Lichen association ?

(a) Photosynthesis (b) Protection

(c) Anchorage (d) Absorption of nutrients

Which pigment is responsible for the red colour in red algae ?

(a) Chlorophylla (b) Chlorophyll b (c) Phycobilins (d) Fucoxanthin
True fungi store their reserve food in the form of :

(a) Starch (b) Cellulose (¢) Glycogen (d) Chitin
Harvey (1836) for the first time divided Algae into how many groups ?

(a) 1 Group (b) 2 Groups (c) 3 Groups (d) 4 Groups
Which of the following is a common representative of Fruticose Lichens ?

(a) Lecanora spp. (b) Usnea spp. (c) Physcia spp. (d) Lecidia spp.
The chlorophyll of cyanobacteria is confined to which of the following ?

(a) Chloroplasts (b) Mitochondria (c) Heterocysts (d) Thylacoids
Which Bacterium is responsible for oxidation of ammonia to nitrate as part of nitrogen cycle ?
(a) Nitrobacter (b) Nitrosomonas (c) Pseudomonas (d) Bacillus

In red algae the reproductive structures responsible for spore formation are called :
(a) Zoospores (b) Gonidia (c) Carpospores (d) Conidia
Anthers are linear in which of the following ?

(a) Acalypha (b) Mercurials (c) Vinca (d) Hibiscus
Abscisic acid is associated with the regulation of which of the following in plants ?
(a) Cell elongation (b) Seed dormancy (c) Flowering (d) Root growth
What is the primary economic importance of brown algae ?

(a) Food source (b) Antibiotic production

(c) Algin extraction (d) Oxygen production

Which of the following groups represent the organisms of extreme environments ?
(a) Archaebacteria (b) Eubacteria (c¢) Eukaryotes (d) Cyanobacteria

Which organism is responsible for bacterial leaf blight disease in rice ?
(a) Aspergillus (b) Xanthomonas (c) Bacillus (d) Pseudomonas

Which of the following groups represent the bacteria with branched multicellular filaments ?
(a) Archaebacteria (b) Actinomycetes  (c) Mycoplasmas (d) Myxobacteria

Who proposed Gymnospermae and Angiospermae as two divisions of Phanerogamae ?
(a) Robert Brown (b) J.D. Hooker (c) Eicher (d) Pant

Three types of prothallus are found in :
(a) Isoetes (b) Selaginella (¢) Lycopodium (d) Anthoceros
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(a) STHTI—HRAT (b) gﬂ .
(c) T=hS (STTUTE) (d) A T ST

44, I A9 H AT T b AT 9 &1 uieh IR § ?
(a) FAUBAT  (b) FATe o (c) TSI (d) RRMFH

45. IEfeh Shash U1 TR WioH fohd €9 § Hfed &id 8 7

(a) &M (b) HEIS (c) TTgRISH (d) wrsfe
46. &Td (1836) 7 Ugel SR AT ol foha Txgl # fawriora feram ?
(a) T HE (b) & HIE (c) T =g (d) =REE

47. Trafafea O & S HARNS A5 1 T qmE= Il g 2
(a) AR IS (b) e et (c) BRERT IS (d) e gt

48. TSR o1 TRl feferiad o & fore o difia 2 7
(a) BT (b) HTEEIRitg (c) ettt (d) UrCThEEH
49. HTSZISH sk o W & &Y H W1 6 T8¢ H Snafienor & for o a1 Sfamy SR & 2
(a) TEIISFR (b) TZIIETATH (c) EHHE (d) sféer
50. et Staret H sl i o fore frer soie SanaTt s et ST 8

(a) S (b) TffEa (c) HIITEAE (d) shiffean
51. frefiafaa 3§ & Reed weny <hfer fes) a9 § ¢

(a) UShATSHI (b) THRIfEH (c) ferehr (d) Tefereny
52. ufeafue uftre, el & frefiad § & Rras e A 1?7

(a) FREITEE  (b) i (c) I (d) S35

53. YR JaTeT 1 T1eifirek ST e g 7

(a) @& (b) TSR IS (¢) T fsapur (d) SATFHSH It
54, TfIRad § | I 1 g =W FTarELyl o Sai i Sfai-1eed a8 ?

(a) STFhIFITET  (b) JsITET (c) IhiEE (d) TSI
55. STl H ST T scATge U o fold i 91 e e @ 2

(a) THSTH (b) == (c) Sfaem (d) REEHAE
56. f=fetRaa § A 4 o1 @9z, IMRad SghIfEhR aq ard 31 1 Al AT g ?

(a) eI (bF)FEEGﬁ?ﬁ'HT%ﬁ?ﬁH (c)aﬁ Wm (d) Treaaediian
57. feredff 3T ufSrreadf i BRI o < 9T o ®9 H fohen e T ?

(a) s SIS (b) 3.2 M (c) 3MEIN (d) ua
58. o9 YR o MATH U J1d &
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Which is true about the vascular bundles of monocotyledonous stems ?
(a) They are collateral and open. (b) They are arranged in a ring.
(c) They are of uniform size. (d) Phloem parenchyma is absent.

The process for the formation of pollen grains in plants is known as :
(a) Meristems (b) Secondary growth (c) Microsporogenesis (d) Megasporogenesis

Dendrochronology deals with which of the following ?
(a) Classification of angiosperms

(b) Classification of gymnosperms

(c) Determination of age of a tree

(d) Study of the internal structure of isobilateral leaves

Which of the following statements about E. coli is not true ?

(a) E. coli was the first disease producing bacterium discovered by Koch.
(b) E. coli is a part of normal microflora of humans.

(c) E. coli is beneficial in human intestine.

(d) The disease causing strains of E. coli cause bloody diarrhoea.

The economic importance of Myrtaceae family is in the production of which ?
(a) Timber (b) Essential oils (c) Vegetables (d) Nectar

Erythrolitmin dye used in Litmus paper to indicate changes in pH is extracted from which
of the Lichens ?

(a) Lobaria (b) Roccella (c) Xanthoria (d) Aspicilia
Which of the following groups does not belong to true fungi ?

(a) Chitridiomycetes (b) Oomycetes

(c) Zygomycetes (d) Basidiomycetes

Which of the following statement is not true for viruses ?
(a) The viruses are obligate intracellular parasites.

(b) The viruses possess both DNA and RNA.

(c) The viruses are insensitive to antibiotics.

(d) The viruses can pass through bacteriological filters.

What is the main function of DNA in a cell ?
(a) Energy production (b) Protein synthesis
(c) Cellular respiration (d) Cell division

Which option refers to the basic units that make up DNA and RNA molecules ?
(a) Sugars, amino acids and lipids (b) Phosphoric acid, sugars and bases
(c) Proteins, lipids and carbohydrates (d) Fatty acids, glycerol and Nucleic acid

Which cell division increases the genetic variability in the population of organisms from one
generation to the next ?
(a) Amitosis (b) Mitosis (c) Meiosis (d) Metaphase

Which sequence is correct in polymerase chain reaction ?

(a) Extension of primers, Denaturation

(b) Primer annealing, Denaturation

(c) Denaturation, primer annealing and extension of primers
(d) Extension of primers

Which of the following trees is known as ‘Father of Forest” ?

(a) Sequoidendron gigantium (b) Eucalyptus citriodora
(c) Gingko biloba (d) Gnetum montanum
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The process of conversion of nitrogen to ammonia is called :

(a) Ammonification (b) N, fixation

(c) Nitrification (d) Denitrification

Roots of orchids possess an outer tissue meant for absorption of water :

(a) Periderm (b) Phellem (c) Velamen (d) Phelloderm
PEG stands for :

(a) Phosphoenol glutamate (b) Polyethylene glycol

(c) Phosphorus estimated gas (d) Phosphorus ethylene gas

The disc shaped structure on the side of a centromere on chromosomes is called :
(a) Nucleoplasm (b) Ribosome (¢) Kinetochore (d) Chromatin
In cell division the interphase does not include :

(a) G, phase (b) S phase (¢) G, phase (d) M phase
Which cell organelle are the site of aerobic respiration ?

(a) Lysosome (b) Chloroplast (c) Mitochondria (d) Golgi apparatus
Who discovered double fertilization in angiosperms for the first time ?

(a) Nawaschin 1898 (b) Hofmeister 1861

(c) Berg 1898 (d) Fagerlind 1940

The flowers of Pea, Beans and Gulmohar are :
(a) Actinomorphic (b) Zygomorphic (c) Assymetrical (d) Symmetrical

A cross between a hybrid and recessive parent is known as :
(a) Test cross (b) Back cross (c) Reciprocal cross (d) Dihybrid cross

Coenocytic plant body is not found in :
(a) Mucor (b) Rhizopus (¢) Vaucheria (d) Puccinia

Totipotency is called :

(a) Ability of plant cells to regenerate into complete plants.
(b) Development of flowers into fruits.

(c) Development of seeds.

(d) Development of pollen grains.

Ferns are classified under which of the following groups ?

(a) Psilophyta (b) Lycophyta (¢) Sphenophyta (d) Filicophyta
Which type of bacterial cell may have pili ?

(a) Gram positive (b) Gram negative

(c) Any type of bacteria (d) L-forms

Oil obtained out of the following plants is not used as edible oil —
(a) Zeamays (b) Glycine max (c) Arachis hypogea (d) Ricinus communis

The term used to refer specifically to the diffusion of water across a differentially or
selectively permeable membrane is called :
(a) Respiration (b) Transpiration

(c) Osmosis (d) Plasmolysis
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Which cycle can be described under three stages :
Carboxylation, reduction and regeneration ?

(a) Phosphorus cycle (b) Calvin cycle
(c) Nitrogen cycle (d) Carbon cycle

How many types of pigments are involved in photosynthesis ?
(a) Chlorophyll a

(b) Chlorophyll a, chlorophyll b, xanthophylls and carotenoids
(c) Chlorophyll b and xanthophylls

(d) Xanthophylls

Lichens are formed by symbiotic association of which of the following ?

(a) Fungus and Algae (b) Fungus and Bacteria

(¢) Fungus and Bryophytes (d) Fungus and Virus

The terms long-day plant, short-day plant and day neutral plant are used in which process ?
(a) Photosynthesis (b) Respiration (c) Photoperiodism (d) Vernalization

The microsporangium in angiosperms is surrounded by which one of the following ?
(a) Epidermis and Endothecium

(b) Epidermis, endothecium, middle layers and the tapetum

(c¢) Epidermis and tapetum

(d) Middle layers and tapetum

Herbert Boyer is concerned with which field ?

(a) Ecology (b) Biotechnology (c) Genetics (d) Taxonomy
The products of ecosystem processes are named by which of the following ?
(a) Ecosystem services (b) Forest ecosystems

(c) Ecological succession (d) Ecosystem components
Name the lichens which is used as fodder.

(a) Roccella (b) Cladonia rangiferina

(c) Dermatocarpon (d) Lecanora

Monohybrid experiments of Mendel involved :

(a) One character (b) Two pairs of characters

(c) Single pair of character (d) Three pairs of characters
Gynobasic style is characteristic of which family ?

(a) Lamiaceae (Labiatae) (b) Asteraceae

(c) Liliaceae (d) Malvaceae

The cyathium inflorescence is characteristic of which family ?
(a) Cucurbitaceae (b) Rutaceae (c) Euphorbiaceae  (d) Malvaceae

The mycelium distinguishable into aerial hyphae called stolon is found in :
(a) Rhizopus (b) Pilobolus (c) Aspergillus (d) Synchitrium

Based on the types of pigments, plastids can be classified into :
(a) Chloroplast and leucoplasts

(b) Chromoplasts and leucoplasts

(c) Chloroplasts, chromoplasts and leucoplasts

(d) Chloroplasts and chromoplasts

What is true about light harvesting complex Photosystem-I and Photosystem-II ?
(a) PSI-P700, PSII-P680 (b) PSI-P680, PSII-P700
(c) PSI-P700, PSII-P700 (d) PSI-P680, PSII-P680
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